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:Example: From the following frequency table, find the mode

Fi s L)
8 9-5
7 14-10
24 19 - 15
32 24 - 20
20 29 - 25
12 34 - 30
8 39 - 35
2 44 - 40




Mo = 22.2
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Mo=U+( A1 )xc

A1 + A2
8 =24-32=AI
12=20-32=A2

20 = Li

5=C
5+ (35) =200
Mo = 22
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Exercise: From the following frequency table, find the Mode using the

:difference and leverage method

Fi s L)
4 29 - 20
12 39 - 30
14 49 - 40
17 59 - 50
20 69 - 60
21 79 - 70

( gl Jagunlly Jauagll ) ApjSpall A3 uplia o Al

aab alady Bole aadind ¢ A oS0y A8 Cad BDe s Al Ae il Gunlie o ADle Cllia

DY ¢ Aaglre (AY] Guliall ol Al uylad)
X-Mo=3(X-Me)
120 = beal) Tasglly 150 = Lapussll o caale 13 Jlsiall 2a 1 Jlia

Example: Find the mode if you know that the median = 150 and the arithmetic

mean = 120.

120 - Mo =3 (120 - 150 )
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